Worksheet 7.1: Radicals and

s Summer 2016
Rational Exponents e

SEW Math 090

1. Each of the following is written in radical notation. Rewrite each with a rational exponent.
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2. Bach of the following is written with a rational exponent. Rewrite each in radical notation.
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3. Simplify each of the following. You can convert from radical notation to fraction exponents,
or vice verse, if that’s helpful. Remember to take the root, before taking the power!

Which of these roots is not a real number?
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4. Use the laws of exponents to simplify each of the following. Give your answer using only
positive exponents.
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SEW Math 090 Workshept 7.2: Radicals and Summer 2016
Rational Exponents

1. Simplify each of the following expressions.
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2. Add or subtract the following radical expressions, if possible. You may need to simplify first
to find like terms.
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